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R mwn: characteristics of narm »w1p which do not apply to n'an pTa >w1p
a 7o they can generate nmnn
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Challenge: mmim maw do not generate nnn
1 Answer: referent is nnna
2 Challenge: »w1p 151, which have narm nv1Tp, cannot generate nnn
(a) Answer: could follow nmi’ "1 — RN VY THN
3 Challenge: nmnn itself, which has nam nwyTp, cannot generate NN
(a) Answer: our referent is the base 127p, not its “offspring”
(i) Note: once we've answered this way, the 751 question need not be answered by associating only with >

v729. RNV AN ,YNA attach

After prro. still retain nwyTp and their young and milk are nrmox

pimr: culpability for pin »omnw

Use for payment: may not use nawm »7p to pay workers (who are working in v1pn)

Per: v. 1 - may use ™%” to make vTpn

1 mwn: characteristics of m»an P12 'w7p which do not apply to nam »oTp
a  Default: the default of w1pn is nan pTa

1

ii

iii

iv

Observation: this is contra ywin» 7 (in dispute with 8™ re status of animals who are part of wTpn of estate — 1:7 »9pW)
1 ~77:all goes to n»an p7a; male o nn sold to NY1Y 137%; female mmonn sold to MW 137%; funds to Nan pTa
2 7z male Dnmn are MYy; female MmN sold to DmYw »97% and funds used for Mmvy; rest to n*an P12
note: this interpretation of the mwn is contra to 27’s (per R”aR7) — YW’ /8™ are in agreement if the flock is all males
1 reason: a person wouldn’t ignore the opportunity of narn nwy1p in favor of n»an p1a
2 dispute: only in case where the flock is mixed (m/f)
3 &1 aperson doesn’t split his 113; since the females can’t be MY - males also not m»y
4 pwir 1. a person will split his m
(alternate version of 27, per 8”7axT. if he only was v’ Tpn animals, X" agrees that it goes on nam
1 reason: a person wouldn’t ignore the opportunity of narn nwy1p in favor of n»an p1a
2 dispute: only in case where the flock is mixed (animals/property)
3 ~”1aperson doesn’t split his 91; since the property can’t be my - animals also not m>y)
4 pwir 1. a person will split his m
analysis of two versions: end of R"’s ruling — “proceeds go with rest of property to nvan pTa”
1 this only works: according to 2" version;
2 but: to 1%t version, should read “will go to n"an p12” (“rest of property” is not the cause)
(a) answer: we have a Rn»11 with that version

b Ommniversality: nan p7a may apply to anything
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extra phrase: extends to shavings and sawdust of n»an p1a wood

c 5w attaches to the byproducts of noan p1a

i

extra phrase: extends to milk and eggs of pPw1pIN
1 per: 122 n9vn —no NRIN (32770) but nYyn does not attach (n”nn) to PN *x2) PYTPIND 25N
2 but: (ibid) re: man p13, if he is w*Tpn a chicken, n%'yn attaches to the egg; if he is W*1pn a jenny, nY’yn attaches to
her milk
(a) note: even according to authority that n»’yn attaches to w1pn *)713 — only byproducts that are fit for nam, but
if not fit — no N»yn attaches (unlike n>an p7a, where such distinctions are meaningless)

d  Anam owners get no benefit from nvan pTa
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